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Example 3 Linear(Application with Equation Given =mx + b /"
The equation that models a comet travelling at terminal velocity towards Earth is:
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where y represents the height of the comet (in metres) and x represents the time in seconds after
the comet entered the Earth’s atmosphere.

a)}_ Sketch the graph of this situation.
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d) After how many seconds will the comet hit the ground?
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Example 4: Linear Application with Table of Values Given

The cost of tacos purchased depends on the number ordered. The table below shows the cost of
purchasing tacos from a food truck.

; X' | Number of tacos ordered 1 2 3 5 8 | &,
"*‘ g. CostS il e 3.50 7.00 10.50 17.50 2800 L2
a) Graph the scatterplot of the data
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b) Is the relation linear? Explain. If so, sketch the linear regression equation on the grid above, and
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c) How much will it cost if 20 tacos are ordered?
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d) How many tacos could you buywutﬁSlOO 00? ——

r\\e:;fwsw 5'9’&!«;&»
Y, = /00

————

......... - /mﬁf%_} S Lrdepce e:f

[zod ] [TRAC 22 o cos . ( Rbundect )




